uHYRast dor

200005

| This Question Booklet Contains 16 Printed Pages 21l UAUAHL 54 16 Al uidi 9. I

ney st i

GHEARCAL 6155 «A6R -
saual 100

sa e 100

ICGBU-2024

¥HY : 120 [Alqe

Total Que. : 100
Total Marks : 100
Time : 120 Minutes

AHd YAl UUAHL 4 209 Al Yl uaylas viadl adl.

(01)

(02)

(03)

(04)

4L USUAHL 54 100 U=l 8. Udls Uzl G A, B, C
w1 D Ul 515 25 9. GHEAR 64 67allel < AL HPlAL
€4 dl dsl 42 OMR GrizusAdi [@seu E 214 8.
o84l 67 Uil G 2AUAL RUA 9. 2L A& 2149
{14 OMR GriusA¥l o7 Gri2 2A1udiel 8,

BersyL als :

GURAAL 2L al3 5191 2inua 8§ 7

A) WER WA B) YGiINRis ol
C) HeleHL il D) [Adien cug
Grikua (OMR SHEET) &i.

® ® @ ®© ®

-~

Gusd GELERWLL svallel “C” 8. i8] “C” o ada
412 (encode) 524 8. Al id viiZl ueglell ada
a1 52l ollotdedl YUl OMR Hi 114 8 o7l Yl
adl.

1 4l 100 220 Y31 suEal 9 % 34 ddl uay vl
Sl od nEl WL owdL 4 ¢ld 2Edl S5 Y
g Gl b S5 Uy UWA A € Al dl 2 SIS
alld orQud dl dd o7 [ailas wiiell waylast 215
oteaid] adl.

GHEARA OMR GriUa HoUL GlE 04 dil gRL dsll
<Al2l sl 2099 5 9 sRAM 219l dl d GHgAR
IR SAAAML 21198

et 93 ¥l GHear 2189234l ulan vis il
259 <l

GHEAR Uil olss sHisedl usyRast 2id OMR
GeiRusd HAd 8 dedl il s ddl wieuar vig
(R3], Rl o B €RY. GHEARA OMR Grizuat
HOL S dRd o/ ddl [Hud 24 oroul Uldidl clss
5415 29269 2152 quidldl 289 ddey clss sHls 12
2104 940 WL 9l (encode) 5dld 284, HAY
uysiedl sis [ad oot duild d«dl e g
ada uQl 4 (encode) sRald 284, qviell (@2l
24 @l (encode) 524 dda«l (@l Ui dd
eREd 8 dsdl viddl 520 ddl.

(05)

(06)

07)

(08)

(09)

(10)

(11)
(12)

(13)

Ul 1R oraleiels 1 (Hls) QL HaaleL 2. 2Rlisd
uea(al Wi weala Avami 2udl 8. o yorol -
U vli2l ovaletels, viidl SiRa sraleigls, D515 K2
€1 ddl 6vaeiels dal OMR i o/Quedl uHgls] vild]
yegladl 3 2l sl ay [@seu calda oraicidls 0.25
3L SUAHE H1agl. 04 GHEAR 6/Alel 2AUAL HidlAL <
¢ 24 [Aseu (B) @1 (encode) 524 dl 0.25 29l
sl 19 «[E.

OMR GriRUzAdL [[[R1d ool R GHgaR Uldiel
olss sHis dutdl «él da dldidl 2l 9l 4w ddl
A 5 e 519 uQL UsRel (el saiqaidl aua
Ul 6. dd 9d gL 519 gL [auedl % viiam suld
g usdl dl de 2Ay0l SRR Al 2198 214
u2latl W2 SRS QLA 2194l

Gtku (OMR SHEET) i GHeaR dal [2las
oldd]l 2l wbrad 8. oiddl udl [adl OMR
SHEET (GrRUaA) dlll GHedR IRars &4l
ulal g2rud Gigar wAdl si9 QL s,
HPleRlsy, studl, 2ied ¢ealfia ¥ Bieds ke,
o gid, Uz, 3aydR, g2y, 218 did &
2y dloa, GusQll glald orgudl di GHgdRd
SRAIS AL 144,

21 ovdlodel 51y gkl duiiadl dlal d
qd, 512 3 PR €l ddl v s Avdl dal
syateiagldl aél aadl <€l

UAYRASHE S oMl 25 s KRG, d U2 2ad
110 2] 21199 A€l sraeiadlHi 56wl 25 a8
529 <€l nayfasmi ovaell quidid] Hes 9.
UAYRASHL SIS YB 51saL 5 ogel sl Hele 8.
g wlatl LRI ielvier Ay sdl, v1diey Rl
5 [RHlasdl yadiild Gedad 529 3 21 515 3R4d]
524l d SR [R1d 21gusl.

GHeaR &l /si0ll oliguieee Udall Gl quialdl 8.
e Wl S U 3 U dl 25 ldl Guaial 53
21519l <€l dal 13 Al (White Ink), 6ds 3 2004l
5 2y 515 gl 2l nAeL oraleiHl sl YARL Hied
Ul <€l

y3lail BUuAR GHgalR Griusl (OMR SHEET) adt[alaisd uad sul eile o aoluis 691saldl 239, du
s syR 23] [iraeiid vaal il udlal W2 GHeARA JRAMS 3RAAMI 2044,

aloaloalgalgaloalgalenlgalgnigalon]
GolauagituBultu Ul to ] it | st

2312303

1




35|

Rlnalgaigaloaingl
B EUIBU TS B U

60

: :
tret
S)fets

2 Ve AXARNELORA 1\

001.

002.

003.

004.

005.

006.

007.

In which year, name of Kandla Port Trust is renamed as Pandit Deendayal
Port Trust?

(A) 2016 (B) 2017

(©) 2018 (D) 2019

“Adalaj ni Vav” was built by Mahmud Begada in
(A) 1411 (B) 1512
(C) 1610 (D) 1380

Which of the following is / are objective(s) of NITI Aayog?

(A) To evolve a shared vision of national development priorities, sectors
and strategies with the active involvement of States.

(B) To create a knowledge, innovation and entrepreneurial support
system through a collaborative community of national and
international experts, practitioners and other partners.

(C) To focus on technology upgradation and capacity building for

implementation of programmes and initiatives

(D) All of the above

Economic Survey is published by ;
(A) Ministry of Finance (B) NITI Aayog
(C) Indian Statistical Institute (D) Indian Economic Service

<A1 2uiq U] 5 219 97
(A) Ad + Rkl = A= (B) Wl + Guadll = wotuMiafl
(C) WRH + 92 = YRHWR (D) 2UU AHIH

AlRnig] s geg uHIA 2] ?
(A) eRdl»lie (B) LM
(C) “usu2 (D) A4

Article 29 belongs to which part of Indian Constitution?
(A) PartIl (B) PartIII
(C) PartlVv (D) PartV
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008.

009.

010.

011.

012.

013.

014.

015.

Fundamental Duties were included in the Constitution on the
recommendation of which of the following committee?

(A) Swaran Singh Committee

(B) Santhanam Committee Shah Committee

(C) I.B. Kripalani Committee

(D) None of the given

Scissors : Cloth :: Axe : ?
(A) Wood (B) Grinder
(C) Stone (D) Brick

Aakash and Aman have to travel from Ahmedabad to Rajkot in their
respective vehicles. Aakash is driving at 80 kmph while Aman is operating
at 120 kmph. Obtain the time taken by Aman to reach Rajkot if Aakash
takes 3 hrs.

(A) 4hrs (B) 2hrs

(C) 2 hours and 45 minutes - (D) None of the given

What are the two categories of cells which nervous system is made up of?
(A) Gastric chief cell, Parietal cell

(B) Satellite cell and Boettcher cell

(C) Neurons and Glial cells

(D) Tendon cell and Macula densa cell

The concept of ICT is related to ...........
(A) storing digital information (B) recording digital information
(C) sending digital information (D) All of the given

Give synonym of the following word: “Audacity”
(A) Courage (B) Accurate
(C) Rude (D) Cowardice

Give antonym of the following word: “Barrier”
(A) Fertile (B) Obstacle
(C) Assistance (D) Barricade

With reference to higher education, E stands for what in NMEICT?
(A) E-content (B) Education
(C) Equal (D) None of the given

ICGBU-2024 -A ] [31] [ P.T.O.
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017.

018.

019.

020.

Which of the following is an online sfore house of all academic awards
like certificates, diplomas, degrees marksheets etc.?

(A) SWAYAM

(B) National Digital Library

(C) National Academic Library

(D) National Academic Depository

The fourth vertical of HECI will be the , Which will frame

expected learning outcomes for higher education programmes, also

referred to as ‘graduate attributes’.

(A) National Accreditation Council

(B) Higher Education Grants Council :

(C) National Higher Education Regulatory Council

(D) General Education Council

NEP 2020 stated to establish a National Repository of high-quality
resources on foundational literacy and numeracy on Government Digital
Platforms. What is the name of the Government’s Digital Platform?

(A) DIKSHA (B) DISHA

(C) NISHTHA (D) SHIKSHA

If the administrative authority within a department is vested in a single

individual, then that system is known as

(A) Board (B) Bureau
(C) Commission (D) None of the given

Which of the following act prohibits the improper use of State Emblem of

India for professional and commercial purposes?

(A) The State Emblem of India Act, 2005

(B) The National Emblem of India Act, 2005

(C) The Improper Use and Proper Use of State Emblem of India Act,
2005

(D) None of the given

ICGBU-2024 -A | [4] [ Contd...



021.

022.

023.

024.

025.

Which of the following is correct as per rule 141A of General Financial

Rules (GFR), 2005?

(A) GeM may be utilized by Government buyers for direct online purchases
upto Rs. 1,00,000/- through any of the available supplier on the GeM,
meeting the requisite quality, specifications and delivery period;

(B) GeM may be utilized by Government buyers for direct online purchases
upto Rs. 5,00,000/- through any of the available supplier on the GeM,
meeting the requisite quality, specifications and delivery period;

(C) GeMmay be utilized by Government buyers for direct online purchases
upto Rs. 50,000/- through any of the available supplier on the GeM,
meeting the requisite quality, specifications and delivery period;

(D) None of the given

An appointment to any service or post included in the State service shall
be made by the State Government or by an authority duly empowered in
that behalf by the State Government

(A) on the result of a competitive examination held for the purpose

(B) by promotion or transfer

(C) by direct selection

(D) All of the given

Qualifying service for the purpose of pension of a government employee
does not include as per Gujarat Civil Service (Pension) Rules, 2002.

(A) Service on fixed pay basis (B) Service as an apprentice

(C) Service on contract basis (D) All of the given

As per Gujarat State Biotechnology Policy, indicative list of Ecosystem
strengthening projects includes

(A) Genome Sequencing

(B) Plug and Pay facilities

(C) Clinical Testing including Animal Testing Facilities

(D) All of the given

Who is the Director General of Gujarat Biotechnology University?
(A) Shri Dilip Shanghvi (B) Shri Sudhir Vaid
(C) Dr. Subeer S. Majumdar (D) Dr.J. C. Lilani
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026.

027.

028.

029.

030.

031.

032.

033.

What is the time complexity of push and pop operations in a stack?

(A) O(n) (B) O(log n)

© 0O@1) (D) O®"2)

Which of the following is not an application of a queue data structure?
(A) Job scheduling (B) Tree traversal

(C) Parsing expressions (D) Depth-First Search

Which of the following operations is performed more efficiently by a |
doubly linked list than by a singly linked list? :
(A) Deleting a node whose location is given
(B) Searching for an element

(C) Inserting a node after a given node

(D) Traversing all nodes

Which of the following properties is true for a max-heap?
(A) The root is the smallest element.

(B) The root is the largest element.

(C) The root is neither the smallest nor the largest element.
(D) The left child is always greater than the right child.

In an undirected graph with n vertices and e edges, what is the maximum
number of edges?

(A) n”2 (B) n*(n-1)/2

(©) n*(n+1)/2 (D) n*(n-1)

The members of the set S = {x | x is the square of an integer and x < 100}
1s

(A) {0,2,4,5,9,55,46,49, 99, 81}
B) {1,4,9,16})

(C) {0,1,4,9,16,25,36,49, 64,81}
(D) {0,1,4,9,25,36,49, 123}

Which of the following is a lattice but not a distributive lattice?
(A) Boolean algebra

(B) Set of divisors of 30 with divisibility relation

(C) Set of natural numbers with usual order

(D) Set of real numbers with usual order

Which of the following is a property of a Hasse diagram for a poset?
(A) It shows all possible relations explicitly

(B) It shows only the transitive reduction

(C) Itis always a complete graph

(D) It contains cycles to represent order
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034.

03S.

036.

037.

038.

039.

040.

041.

Which of the following is true for a bipartite graph?
(A) It contains an odd-length cycle

(B) It can be colored with two colors

(C) Itisalways complete

(D) It has a Hamiltonian cycle

How many ways can a committee of 4 people be chosen from a group of
10 people?

(A) 210 (B). 252

(©) 120 (D) 302

What is the primary advantage of using a hash table over a binary search
tree?

(A) Better average-case time complexity for search operations

(B) Lower memory usage

(C) Simplified code

(D) Easier to implement

What is the time complexity of Depth First Search (DFS) in an undirected
graph with V vertices and E edges?

(A) O(V+E) (B) O(VlogV)

(©) o(r*) (D) O(VE)

Which of the following algorithms has the worst-case space complexity of
O(1)? :

(A) Merge Sort (B) Quick Sort

(C) Bubble Sort (D) Insertion Sort

What is the correct order of growth for the functionf () =612 + 2n + 3?
(A) O(n) (B) O@)

(©) O@) (D) O(log )

Which of the following problems is typically solved using a divide and
conquer approach?

(A) Finding the shortest path in a graph

(B) Sorting an array

(C) Searching in a binary search tree

(D) Matrix multiplication

If a table has a foreign key referencing its own primary key, what type of
relationship does this indicate?

(A) One-to-One (B) One-to-Many

(C) Many-to-Many (D) Recursive

ICGBU-2024 -A | [7] [ P.T.O.
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042.

043.

044.

045.

046.

047.

048.

Which normal form requires that a relation with multiple candidate keys
should have no overlapping attributes among these candidate keys?

(A) Third Normal Form (3NF)

(B) Boyce-Codd Normal Form (BCNF)

(C) Fourth Normal Form (4NF)

(D) Fifth Normal Form (5NF)

Which file organization method offers the best performance for a range
search query?

(A) Heap file organization (B) Sequential file organization
(C) Indexed file organization (D) Hashed file organization

What is the primary disadvantage of a dense index as compared to a sparse
index?

(A) Slower search time

(B) Higher storage overhead

(C) Cannot be used with primary keys

(D) Only supports sequential access

Which concurrency control technique involves validating a transaction’s
changes at the end of the transaction before making them permanent?
Hard

(A) Two-phase locking

(B) Timestamp-based protocol

(C) Optimistic concurrency control

(D) Multiversion concurrency control

Which file system supports file permissions and attributes in Unix-like
operating systems?

(A) FAT32 (B) NTES

(C) EXT4 (D) HFS+

What is the purpose of a page table in a virtual memory system?
(A) To manage the hardware interrupts.

(B) To translate logical addresses to physical addresses.

(C) To keep track of free memory space.

(D) To handle I/O operations.

Which of the following is a disadvantage of using threads over processes?
(A) Increased complexity of synchronization

(B) Higher memory consumption

(C) Slower context switching

(D) Limited scalability

ICGBU-2024 -A ] [8] [ Contd...



049.

050.

051.

052.

053.

054.

055.

056.

057.

Which of the following techniques is used to handle deadlock?

(A) Prevention (B) Detection

(C) Avoidance (D) All of the above

Which of the following is NOT a method of inter-process communication?
(A) Signals ' (B) Pipes

(C) Threads (D) Message queues

Which of the following statements about IPv6 is true?
(A) IPv6 addresses are 32 bits long.

(B) IPv6 uses DHCP for address configuration.

(C) IPv6 supports multicast but not broadcast.

(D) IPv6 addresses are backward compatible with IPv4.

Which LAN technology uses CSMA/CD (Carrier Sense Multiple Access
with Collision Detection)?

(A) Ethernet (B) Token Ring

(€): FPDDI (D) Wi-Fi

In the context of routers, what is the purpose of a routing table?
(A) To store MAC addresses of connected devices

(B) To store IP addresses of neighboring routers

(C) To determine the best path to forward packets

(D) To filter incoming packets based on IP headers

Which TCP congestion control algorithm uses additive increase and
multiplicative decrease?

(A) Slow Start (B) Congestion Avoidance
(C) Fast Retransmit (D) Tahoe

What authentication method is commonly used to establish secure
connections in HTTPS?

(A) HMAC (B) RSA

(C) AES (D) SSL

Which of the following operations on a data cube involves selecting a
specific set of dimensions and fixing the values of other dimensions?
(A) Drill-down (B) Slice

(€©): Diee (D) Roll-up

Which component of a data warehouse is responsible for storing
integrated, non-volatile, and time-variant data?

(A) OLAP server (B) ETL tools

(C) Data marts (D) Central repository

ICGBU-2024 - A | [9] [ P.T.O.
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058.

059.

060.

061.

062.

063.

064.

Which system is designed to handle a large number of short online

transactions?
(A) OLAP (B) OLTP
(C) Data Warehousing (D) ETL

Which of the following is a key characteristic of NoSQL databases?
(A) Fixed schema (B) Horizontal scalability
(C) ACID transactions (D) Relational data model

What is the goal of the clustering technique in data mining?
(A) To assign records to predefined categories

(B) To predict future values of a variable

(C) To find natural groupings in data

(D) To discover relationships between variables

In which scenario would you prefer using a NoSQL database over a SQL

database?

(A) When you require strong ACID properties for transactions.

(B) When your data is highly structured and relationships among data are
crucial.

(C) When you need to handle large volumes of unstructured or semi-
structured data.

(D) When you need to perform complex join operations frequently.

Which NoSQL database type is most suitable for representing and
querying complex hierarchical relationships?

(A) Key-Value Stores (B) Column-Family Stores
(C) Document Stores (D) Graph Databases

According to the CAP theorem, which three properties cannot be
guaranteed simultaneously in a distributed system?

(A) Consistency, Availability, Partition Tolerance

(B) Consistency, Atomicity, Durability

(C) Availability, Scalability, Durability

(D) Partition Tolerance, Scalability, Reliability

Which property of NoSQL databases allows them to handle large volumes
of unstructured data effectively?

(A) ACID transactions (B) Flexible schema

(C) Strong consistency (D) Normalization

ICGBU-2024 -A | [10] [ Contd...
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068.

069.

070.

071.

072.

Which of the following best describes the 'Partition Tolerance' aspect of

the CAP theorem? ,

(A) The system continues to operate even if some data is lost.

(B) The system can continue to function even if there is a network
partition separating nodes.

(C) The system always returns the most recent write for a given piece of
data.

(D) The system can handle an increased load without performance
degradation.

In data management, what does ETL stand for?
(A) Evaluate, Transform, Load (B) Extract, Transform, Load
(C) Enhance, Transfer, Load (D) Encrypt, Transfer, Load

Which service model of cloud computing provides the infrastructure over
the internet?

(A) SaaS (B) PaaS

(C) IaaS (D) DaaS

Which of the following issues is a common challenge in pipelining?
(A) Data hazard (B) High latency
(C) Low bandwidth (D) Reduced security

What is the primary benefit of horizontal scaling in cloud computing?
(A) Adding more resources to a single node

(B) Increasing the processing power of a single server

(C) Adding more nodes to a system

(D) Reducing the number of nodes in a system

Which technique is commonly used to ensure high data availability in
distributed systems?

(A) Data mining (B) Data replication

(C) Data archiving (D) Data encryption

Which platform-specific language is used for iOS app development?
(A) Java (B) Swift
(C) Kotlin (D) C#

Which operating system was primarily used in early PDAs?
(A) Windows Mobile (B) Palm OS
(C) Symbian OS (D) Android

ICGBU-2024 -A | [11] [ P.T.O.
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073.

074.

075.

076.

077.

078.

079.

080.

Which multiple access technique is used by GSM?
(A) CDMA (B) SDMA
(C) TDMA (D) OFDMA

Which of the following APIs is used in Android to handle asynchronous
tasks and background services efficiently?

(A) AsyncTask (B) JobScheduler

(C) IntentService (D) WorkManager

In iOS development, which framework is commonly used for managing
layout constraints programmatically?

(A) UIKit (B) CoreData

(C) AutoLayout (D) CoreGraphics

Which model is widely used for assessing and improving software
processes?

(A) Capability Maturity Model Integration (CMMI)

(B) Waterfall Model

(C) V-Model

(D) Agile Model

In a SCADA system, which component is primarily responsible for
collecting data from sensors and devices?

(A) Human-Machine Interface (HMI)

(B) Programmable Logic Controller (PLC)

(C) Remote Terminal Unit (RTU)

(D) Master Terminal Unit (MTU)

SLA compliance is monitored using which of the following metrics?
(A) Key Performance Indicators (KPIs)

(B) SWOT Analysis

(C) Fishbone Diagram

(D) PEST Analysis

What is the primary purpose of a Gantt chart in project management?
(A) To identify potential risks

(B) To allocate resources

(C) To visualize the project schedule

(D) To manage stakeholders

Which of the following is NOT a type of non-functional testing?
(A) Performance testing (B) Usability testing
(C) Unit testing (D) Security testing

ICGBU-2024 - A | [12] [ Contd...
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082.

083.

084.

08S.

086.

087.

Which attack technique uses multiple systems to target a single system,
causing a denial of service?

(A) Smurf Attack (B) DDoS Attack

(C) Spoofing (D) Pharming

Which encryption method uses the same key for both encryption and
decryption?

(A) Asymmetric encryption

(B) Symmetric encryption

(C) Hashing

(D) Steganography

Which of the following is a tool commonly used for network scanning and
vulnerability detection in ethical hacking?

(A) Wireshark (B) Metasploit

(C) Nmap (D) Burp Suite

Which method is often used by attackers to impersonate a legitimate Wi-Fi
hotspot to capture user data?

(A) MAC Address Filtering (B) Evil Twin Attack

(C) SSID Cloaking (D) WPA2 Cracking

Which standard provides guidelines for information security management
systems (ISMS)?

(A) ISO 27001 (B) ISO 9001

(C) ISO 14001 (D) ISO 31000

Which component of the COBITS5 framework is primarily focused on
aligning IT goals with business goals?

(A) Evaluate, Direct, and Monitor (EDM)

(B) Build, Acquire, and Implement (BAI)

(C) Deliver, Service, and Support (DSS)

(D) Align, Plan, and Organize (APO)

What does the "e-Kranti" initiative primarily aim to achieve within the

Digital India program?

(A) To enhance rural transportation facilities :

(B) To digitally empower citizens by providing electronic delivery of
services

(C) To promote traditional art and culture

(D) To establish physical government offices in rural areas

ICGBU-2024 - A | [13] [ P.T.O.
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088.  In the context of E-Governance, what does the term "G2B" stand for and

what is its primary purpose?

(A) Government-to-Business, facilitating business interactions with
government

(B) Government-to-Business, managing internal government
communications

(C) Government-to-Business, regulating citizen engagement

(D) Government-to-Business, providing social services to citizens

089.  How does the concept of 'Smart Villages' differ from 'Smart Cities' in the
context of e-Governance?
(A) Focuses on digital urbanization
(B) Emphasizes digital rural development and connectivity
(C) Prioritizes large-scale industrialization
(D) Implements technology in metropolitan areas

090.  Which of the following policies is crucial for ensuring data privacy and
security in e-Governance applications?
(A) General Data Protection Regulation (GDPR)
(B) Trade-Related Aspects of Intellectual Property Rights (TRIPS)
(C) United Nations Convention on the Law of the Sea (UNCLOS)
(D) - Kyoto Protocol

091.  Which of the following is NOT a part of the Mission Mode Projects
(MMPs) under the National e-Governance Plan (NeGP)?
(A) e-District (B) Passport Seva
(C) e-Courts (D) Digital Library

092.  What is the focus of the Gujarat IT/ITeS Policy 2016-21?
(A) Developing rural IT infrastructure
(B) Promoting IT-based startups and innovation
(C) Expanding e-commerce
(D) Implementing blockchain technology in governance

093. What is the main objective of the MeghRaj initiative under the GI Cloud?
(A) To provide cloud services to the private sector
(B) To promote cloud computing in rural schools
(C) To utilize and harness the benefits of cloud computing for effective
delivery of e-services
(D) To develop new hardware for cloud computing
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094.

09s.

096.

097.

098.

099.

100.

What is the primary legislation governing IT and cyber laws in India?
(A) The Information Technology Act, 2000

(B) The Cybersecurity Act, 2015

(C) The Digital India Act, 2018

(D) The Data Protection Act, 2020

Which platform is designed to provide a unified access to various
government services via mobile?

(A) UMANG (B) DigiLocker

(©) MyGov (D) M-KISAN

Which technology is primarily responsible for enabling decentralized
finance (DeFi) applications?

(A) Blockchain (B) Artificial Intelligence

(C) Quantum Computing (D) Virtual Reality

Which programming language is gaining popularity for its versatility in
building scalable web applications and server-side scripting?

(A) Java (B) Python

(C) Ruby (D) Swift

Which technology is crucial for enabling real-time data processing and
analysis in Internet of Things (IoT) applications?

(A) Cloud Computing (B) Edge Computing

(C) Virtualization (D) Machine Learning

What is the primary focus of quantum computing, distinguishing it from
classical computing?

(A) Faster data transmission

(B) Enhanced security protocols

(C) Solving complex mathematical problems

(D) Simulating virtual environments

Which technology is integral to the development of autonomous vehicles
for enhancing navigation and safety?

(A) Augmented Reality

(B) LiDAR (Light Detection and Ranging)

(C) 5G Networks

(D) Robotics
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